Quiz #1





Name:
1.  Frequency, Type, Token, Type/Token Ratio (1 Point)
The confiscation of a weapons' cargo belonging to Turkey in the Gulf of Aden shows intense cooperation and coordination between Turkey and the political sides in Yemen," Abdullah Bin Amer told FNA on Wednesday. 
“Turkey's involvement in Yemen's political process will backfire and will destroy the Yemeni people's hope,” he added, saying that the government in Ankara should be blamed for such irresponsible acts in Yemen.
[Source: http://english.farsnews.com/newstext.php?nn=9107117626]
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a. How many types are there in the paragraph?

b. How many tokens are there in the paragraph?

c. What is the type/token ratio in the paragraph?

2. A lemma is the dictionary form of a word. Lemmatize each word in the following sentence. In other words, identify the lemma for each word. The first one is done for you. (1 point)
	On
	the
	eve
	of
	the
	visit,
	he
	said
	that
	Britain

	On
	
	
	
	
	
	
	
	
	

	was
	"not
	currently
	planning"
	to
	arm
	the
	rebels
	because
	of

	
	
	
	
	
	
	
	
	
	

	commitments
	under
	international
	law,
	but
	he
	feared
	the
	consequences
	of …

	
	
	
	
	
	
	
	
	
	




3. What four verbs are the most common after the verb-lemma “go”? Use one of the online concordancers we have practiced with during this semester. (0.5 points)
a. Your result:

b. The online concordancer you used:
c. Your syntax:
4. What are the ditransitive verbs in spoken English. To illustrate, I gave him books VERB+NOUN(indirect object)+NOUN(direct object). If your search returns too many lines, you can use a personal pronoun such as “him” instead of a NOUN tag to restrict the number of lines returned.(0.5 points) 

a. Your result:

b. The online concordancer you used:

c. Your syntax:
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